


Cálculo Infinitesimal 1 Solución del ejercicio

Derivación (20 min.) Curso 2020/21

1. a) f(x) = sen x =⇒ f ′(x) = cos x

b) g(x) = sen
1

x
=⇒ g′(x) = − 1

x2 cos
1

x

2. a) f(x) = cos x =⇒ f ′(x) = − senx

b) g(x) = cos x2 =⇒ g′(x) = −2x senx2

3. a) f(x) = tg x =⇒ f ′(x) =
1

cos2 x

(
= 1 + tg2 x

)
b) g(x) = tg 2x =⇒ g′(x) =

2

cos2 2x

(
= 2 + 2 tg2 x

)
4. a) f(x) = arc senx =⇒ f ′(x) =

1√
1− x2

b) g(x) = arc senx5/2 =⇒ g′(x) =
1√

1− x5

5

2
x3/2

5. a) f(x) = arc tg x =⇒ f ′(x) =
1

1 + x2

b) g(x) = arc tgex/2 =⇒ g′(x) =
1

1 + ex

ex/2

2

6. a) f(x) = senh x =⇒ f ′(x) = coshx

b) g(x) = senh(−x3) =⇒ g′(x) = −3x2 coshx3

7. a) f(x) = cosh x =⇒ f ′(x) = senh x

b) g(x) = cosh
1

3x
=⇒ g′(x) = − 1

3x2 senh
1

3x

8. a) f(x) = tanh x =⇒ f ′(x) =
1

cosh2 x

(
= 1− tanh2 x

)
b) g(x) = tanh

√
x =⇒ g′(x) =

1

2
√
x

1

cosh2
√
x

9. a) f(x) = ax, a ∈ R+ =⇒ f ′(x) = ax ln a

b) g(x) = 21/x =⇒ g′(x) = 21/x ln 2

(
− 1

x2

)
10. a) f(x) = ln x =⇒ f ′(x) =

1

x

b) g(x) = ln senx =⇒ g′(x) = cotg x
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